jet

Z

Ratio to ATLAS

3.5

2.5

[EEY

0.5

7000 GeV pp Jets
i L L L B N B ||'|'|'|:g
- — O
- Njet VS pT (FB) (2 <Ay < 3) 3
| 1=
— ®m  ATLAS P
- —A— Pythia 6.428 370 N
- Pythia 6.428 default 413
— —&— Pythia 8.308 default e
— —©
— .2
H HEs
N =
I — ™M
- <
o™
N o
o
— M
I —
u —.=
u 1%
T
— m m — =
- u = W u m G
| —H <
— — @
[ — 0o
— 0
~ -1©
— - O
- — O
I | R | | P I I R I | A I B ,|,|,|,|,|_E
: T T | T T T T | T T T T | |||||||| |:
— =2
1
L —0.5
..... T R U SO S A T SR ST SR NP SR SRR S T R R TR R R |
100 20 300 400 500



	Contents
	Page 1


